oRts
A IEEREHER

WHAFR: 24 2K O EEA BN 2K O BN CS-LS2 & F &
SRR BIEH A5 TR
BESEBAL: K57+0007K62+200 (3L FEEE) MELEA T (—ITIX)

AT 5 4 H 4K FLAL K T

202-1 TH 5

—a MLy m’ 87833

-b AL 2 HETR m? 400
202-2 2R TH % T

—a TR VR e - % THT m’ 100 ZHCE
-b W TR e T m’ 100 ZHCE G
202-3 PrREE K

—a A i VR ok - 5 A m* 100 GHE NG
—c i S AR S5 m* 100 R Nl
203-1 FEEAZTT

-a Z2E77 A (F Tkm LANIER) m? 176722 W a Rt

2477 (& lkm LLNIE ) m’ 166778 | 1~ H Kt
S (& 1km PANIEZR) m’® 9944 S TS

-b ZURA . BAT(F Tkm BANIEPR) m* 101742

- ZERARE AR CERYED m? 202177

-e TAHTTEE (F 1km B EFZ07. #0770« km | 71530
203-2 PR AT SR UERAE T

-a 2477 (% 1km LANIZE3R) m? 100 ZHCR B
b RS A TJ7 (F 1km BLAIZR) m* 100 ZHE NG
204-1 P BT (B A5 AT R 50)

i M = AT m? 24127

=] MAAEETT RBA B8 m? 43430

4 i 3T (i B A7) (B 1Km BLAIE " 504619

%)

-m fEFHITT (% 1Km LLNIZ %) m? 101267

-d1 ARSI T m* 100 ZHCR AL
-n2 RS (596 BED m 378

-nl2 B AT (56T BIE) m 9808

—02 HES S 6 AR IBOHBE A m® 4190




204-2 RS O R BUME ST
-d M & A1 T7 m? 17303
—e M A ETT m? 913
g 1+ AT m? 670
~h AT m? 460
204-3 R R NS E bt 117 ()
-b +TASH (BUE 50KN) m’ 100 ZHCR N
205-1 L7 LB Y L
-1 + T AR m* 25000
-s2 WA m? 80057
-s3 HALAR m? 6656
205-3 R R E
-b HE 3O A m? 100 RN AL
—e WA m? 100 ZHE AL
g HEWA (B m* 100 ZHE N
404-1 sz a7
-al gEf) (Mrisiiss) #2475 m? 30941
-a2 gERY) (MR #2470 m? 2345




AR LEERERHER

WHAFR: 224 2K O EEA BN 2K O BN CS-LS2 & F &
SRR MFEE A5 TR
iS4 . K62+2007K66+000 B IE+ 477 (= T.[X)

AR 4 H 2 FAAT K T
202-1 TH S bR
-a EHEI m’ 96527
-b AR AR - HE TR m’ 300
202-2 Y25 1H % T
-a FK U VR k- B 1 m 100 RN
-b W TR B T m’ 3570
202-3 PREREE D)
—a A 3 T e - 2 m? 100 ZHE N
-c fitt A1 S HAR R PR 2 m’ 100 ZHCE G
203-1 PR EEYZTT
-a FEET7 . B Tkm LLPIE %) m 22740 BRIt E
Z4+77 (& 1km PLNIEH) m’ 21955 WU Sy
ST (& 1km PANIEZR) m’ 785 AN R TH AR
-b PR B (7 1km LANIE %)) m? 258633
- FERRARE AR CERYe) m’ 59243
+THaGHEE CF lkm AEFSS . FE7. M
-e ) m* * km 172663
203-2 AT B B SRR T
-a 2477, oA (F 1km LANIZ 7R) m’ 107515 mga it E
2405 (& 1km LA IZFR) n’ 92198 W A
SHCA (& Tkm LLNIZEZR) m’ 15317 ST SR
-b U AT (8 1km BLNIE ) m? 2520
204-1 Pt BT (B A5 AT R 50)
-1 M = K oA T m? 3908
=] MAAEETT RBA B m’ 281122
5 Ry (%j&&?xg;ﬁﬁ) (% 1Km PAPNIZ . 100 B
-m fEAIETT (& 1Km LAPIE ) m 172663 | 1N S
nl (RO (& 1kn LIS ) wo | ssoap [LRUR: A0em:

Bl KHif%E 15cm

_5_



TSR : )& 90cm; JH

~m2 BT (& 1Km LLNEZR) m’ 114891 KRR 10cn
-d1 DRI T m3 28840

-n2 BIERER (S50 68 [EED m 100 ZHCE A
-nl2 FIREGRCHE A (S5 61 B m’ 10001

-02 HEYY I & AR SBCR I A m’ 100 A N A
204-2 PR AT BRSO R

-d M & A1 T7 m? 17303

-e MDY m’ 913

g b A A T m? 670

-h BT m’ 460
204-3 PIAAE L 2 SN AL iR

-b - TARA (XA 50KND m* 200
205-1 B Hh b B

-1 + T A m 24000

-s2 R m’ 100 ZEE A
-s3 HEHPHR m’ 10313
205-3 IR [ 3H

-b R B A m’ 100 ZHE AL
-e WA m* 100 ZHCE AL
g HEWMA (B m* 100 ZHE N
404-1 ALYk ol s sl

—al ik (MR 2177 m’ 30941

~a2 gEr) (Mrisass) 24077 n? 2345




AR LREERFRER

TUH 48R 5220 2K il A B 227K 11 BENeCS-LS2 & [A] Bt
SIUULAR: BREE A T7 A2
BESHBAL: K66+000 K71+600 (ALFEAKIMRSSIX . EL&Zhul) ikt a77 (ZLX)
AV 4 H 4K HLAL Ko #E
202-1 SERLIEEE/TS
-a THEEI m 96938
-b AJ R R L HETR m? 300
202-2 P2 1R B 1
-a KV Ve gk - % 1 ’ 1080
-b W TR B T ’ 100 ZHCE GG
202-3 PrEREE )
-a X P VR T L 2 m? 100 ZHCE A
-c fite o A B HAd ) ik 25 4 m* 100 ZHCE A
203-1 PR EEYZTT
-a 12 0J7 B (8 1km ANIZ 37) m’ 75373 | HELHMITE
24705 (& 1km LANZ 20 m’ 63874 | w—ung Mes
SO (B Lkm BARIZZE) m 11499 | POHOHHEKE
-b ZURIEA . AT (8 Tkm BANIEZR) m* 3560
—c ERRAEE AR CErtTe) m? 244143
—e AU (F Lkm B EFET 7 AT m° e km | 1869226
203-2 B N T NI SISl - )
—a 2477 (% 1km LN I %) m? 100 ZEE NG
b ZURA L BATT(E Lk AN 37) m* 100 HE NG
204-1 IR ST (60 458 LT R SE2)
! M KA TT m? 17547
=J FRAERET (RBA, B m? 3902
4 fif 307 (fF R BCAIRTT) (B 1Km ARG " 20623
%)
-m AT (% 1Km LIS %) m? 1190361 | i )2 T M5
nl SEHOT (4 TKn BLAE ) v | 3703 iﬁgij gj‘;f
~m2 (BT (4 1Kn DLNIE ) w? 80226 Zigki 2?;;5
-d1 IR A 7 m? 37974

_7_




-n2 [FARDER (S50 68 1) m 100 ZHCENE G
-nl2 FIEGECE A (S5HY)6 8 D m? 9615
~02 HESH R 6 AT TR M SR A m? 3864
204-2 A B R U RS
-d M £ R A 7 m? 17303
—e MR AT m? 914
-8 R/ CE Vi m* 660
-h (EEER: Vi m? 456
204-3 PR R RN AL
b TR (XU 50KND m’ 100 26 ok e
205-1 AR b P
-1 + T A m 25004
-s2 A m? 65247
-s3 WK m? 15174
205-3 TR (B 3E
b WA (B ? 100 TR N
—e WA m? 100 ZHCE A
g HRMB (O f m? 100 R S
404-1 ALYl e e
—al iR (MR 2105 m? 30941
-a2 gEr) (e i) 12677 m* 2345
302-1 R AR
-b J& 180mm n’ 50275
304-3 ISIEY =P LY B
-d 4%7K Ve ke E WA B2 5 180mm m’ 47356






